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oS 1A 3 0= AABC 9] ¢J4 |t} LOAB = 10°, £0BC =
30°, LOAC Y 7=

@ 40° @ 45° @50° @ 55° ® 60°

L{OAB = /OBA, /OBC = /0CB, £OAC = /OCA°|E=Z
LOAB + /OBC + £/OCA =90°
. LOAC = £OCA =90°-40°=50°




3. o& I A I7F AR WAL o, 9] 271

A

40 C

@ 20° @ 30° @40° @ 50° ® 60°

/x =180° - (40° +30°) x 2 =40°
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the 2”4 A 1 aABC ¢ W4lelal DE//BC ¥ ©, AABC 9
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@ 20cm @ 22cm @ 24cm @25cm ® 26cm

S5 x
A 17t WAe]a DE//BC € o,

DE =DI+EI=DB+EC °o|2&

DB + EC = 7(cm) ©]tt.

w2hA] AABC o] E39] Zo]E= AD+AE+DB+EC+BC =
54347+ 10 = 25(cm) ©]t}.
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AABC 9] Q)43 Y4lo] L) wofl AABC = ()],
/BOC = ( )° o]t}

© A4, 90 @ A7, 120
® ol5¥AZH, 60 @ A7, 90

AABC 9] 9|47} o] dAE ti= AABC = Aol
(A = 60° °]2, A O 7} (BOC 0|2
/BOC = 120° ©]t}.
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6. thg 1Y 2 HZ42Ye)A AB = 10em, BC = 6em, AC =
8em ¥ W, AABC 9] 2] ¢12] Wol&?

@ 36mcm? @257701112 ® 227cm?

@ 20mcm? ® 16mcm?

g ee] WA BL WA Boe] woln2 1V = s(em)

mreha] Yol 1 x 52 = 251(cm?) o]t}

N




7. ohe IROIA A M 2 A7 ABC o 940l 1 /C = 36° &
o, zx 9] 57]8 Fatoler

A

36°

O 15° @18° 3@ 20° @ 22° ® 25°

w2bA LACM = /CAM = 36°--- O

T, A7ty o] Wzhe] 32 180° o|B =

LABC = 180° — 90° — 36° = 54° o]t}

/BAH = 180° — ZABC — 90° = 180° — 54° — 90° = 36°--- ©
(A =90° 9|1, /ZHAM = /A — /BAH - /CAM °|E =2

@, ©°l 954 LZHAM = 90° — 36° — 36° = 18°

w2hA] x = 18° o]t}




8. o2 1"A - O0E AABCE] &40l /OCB = 40° ¥ 1], /BAC
o] 37]& FstH?

A

BN___C

@50" @ 55° ® 60° @ 65° ® 70°

~&B ~

AOBCE o|5HAdZAgo|ng
/OBC = /OCB = 40°,
/BOC = 100°

1
AABC A /BAC = §zBOC =50°




9. AABC o] YA Q9] 215 2] do]7t 18 ©]2 AABC 2] HWol7l 63 &
ul, o] 47} o] Eel] Lol Fohr?

O 12 o1 @u ® 15 ® 16

B

A2 o] 18 o]B2 kA 20| Aol g o]t}
(AABC®] Ho]) = % x 9 x (MABC] E#|¢] Zo]) — 63 o]},
webA] AABC 9] S]] ol 14 o]t}




F = Z-oltt.
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10. o Il "1+ aABC & Hidol1, ¥ D, E,
Wl ’Ex52] Zol7t 2cm 4 W, AABC 9] Ho|

@ 22cm? @ 23cm? 3 )24cm?

@ 25cm? ® 26cm?

AF =AD =AB-BD = AB-BE = 9-5 = 4(cm) °|2&
AC=AF + CF =4+ 3 = 7(cm) ©|t}.

b AABC = % X2x% (9484 7) = 24(cm?) o[t}




